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1

(1¡ )
( +( ¡1) + )

( + )

1¡

( + ( 1) )¡
1

+( ¡1) +
( + )( +( ¡1) )

1

+
( ¡1)

1¡

1



II
0 =

1 1¡ 1 ( +( ¡ ) )
1¡ 1

(1¡ )( ¡ (1¡ ))
( + ( ) )¡

1

(0 1)

ln
( +(1¡ ) )

+ 2 +(1¡ )
+ (1 ln ) = 1

1
1¡ 1 ( +( ¡ ) )

1¡ 1

(1¡ )( ¡ (1¡ ))
( + ( ) )¡

1

+
1¡

( ¡1)

1

I
0 0 1

II
0 0

0

¡1

¡1
= ¡1

= 210

¡1

¡1
= 0 0028

(0 0004)¤¤¤
¡1

2 = 0 77 = 0 0028
= 0 59

¡1

¡1
= + ¡1

¡1

¡1

¡1
= 0 0292

(0 069)
+ 0031

( 0007)¤¤¤
¡1

= 0 0031
= 0 64



ln( ) = ln( )

2 = 0 89

ln( ) = 8 56
(1 09)¤¤¤

+ 1 66
(0 64)¤¤

ln( ) 0 29
(0 03)¤¤¤

ln( ) ¡1

2 = 0 83

ln( ) = 32 37
(7 16)¤¤¤

+ 0 28
(2 10)

ln( ) 3 33
(0 38)¤¤¤

ln( )

= 3 33
= 1 = 0 3

¡1

¡1
= ¡1

= 435

¡1

¡1
= 0 00092

(0 00025)¤¤¤
¡1

2 = 0 44 = 0 00092
= 0 40



¡1

¡1
= + ¡1

¡1

¡1

¡1
= 0 04721

(0 08398)
+ 0 00078

(0 00036)¤
¡1

= 0 00078
= 0 34

ln( ) = ln( )

2 = 0 95

ln( ) = 12 44
(0 23)¤¤¤

0 95
(0 06)¤¤¤

ln( ) 0 07
(0 01)¤¤¤

ln( ) ¡1

2 = 0 95

ln( ) = 143 18
(29 00)¤¤¤

2 90
(2 63)

ln( ) 15 57
(2 40)¤¤¤

ln( )

= 15 57
= 1 = 0 06




